
Quiz 7 

 

1. (5 points)  Each of the following integrals could be computed using integration by parts; 

however, only one of them must be evaluated using integration by parts and no other 

method.  Identify this integral.  For bonus points, explain why you don’t have to use 

integration by parts on the others. 

 

 

a. ׬ ଶ൫1ݔ െ ൯ݔ√  ݔ݀
 

ൌ න൫࢞૛ െ ૞/૛൯࢞  ࢞ࢊ

 

b. ׬ cos ݔ tan ݔ  ݔ݀
 

ൌ න࢞ࢊ࢞ܖܑܛ 

 

c. ׬ ଶݔሺ2ݔ െ 1ሻଷ  ݔ݀
 

ൌ
૚
૝
න࢛૜ ࢛		ࢋ࢘ࢋࢎ࢝									࢛ࢊ ൌ ૛࢞૛ െ ૚					ࢊ࢔ࢇ				࢛ࢊ ൌ ૝࢞	࢞ࢊ 

 

 

d. ׬ ଶ݁ଶ௫ݔ  ݔ݀

 

 

2. (5 points)  Identify the functions ݂ሺݔሻ, ݂ᇱሺݔሻ, ݃ሺݔሻ,	and ݃ᇱሺݔሻ (or ݑ, ,ݑ݀ ,ݒ  that you (ݒ݀
should use in order to evaluate the following integral using integration by parts. 

නݔହ sinሺ3ݔሻ  ݔ݀

 

݂ሺݔሻ ൌ  ૞࢞ ݂ᇱሺݔሻ ൌ ૞࢞૝ 

 

݃′ሺݔሻ ൌ  ሻ࢞ሺ૜ܖܑܛ ݃ሺݔሻ ൌ െ ૚

૜
 ሻ࢞ሺ૜ܛܗ܋

 


